20244 BN IR S NIRFHEK KB R 2= 1/3
=Y - F B FHTRAK T — /L (50m)
HIH 2 2025527 1H (£)~2A2A (H)
No.26 B-F 100m k= BALL—RRE
L 11-12 >
B K 4 B 2HE KK B M
15 ER S S CHHR /N6 4/ 3 1:17.43 8k ( 0.71)
2 INEAK— S 53%%1@ 64/ 2 1:17.93 8tk ( 0.76)
3)IE BEFN MY37S(§.$B% H1 4/8 1:19.44 8tk ( 0.67)
4 B OFA e R 1 4/ 1 1:19.75 8% ( 0.65)
5 VGl i Hfé% /N6 3/ 6 1:19.95 8k ( 0.72)
6 A & MYB%LZ?&B}% /N6 3/ 4 1:20.01 7% ( 0.65)
T\ B2 A %Bi?ziitpﬁ /N6 4/ 6 1:20.29 Tk (0.64)
8 $hAk B} S 53%698%1/E 1 3/ 7 1:20.57 Tk (0.79)
9 hnfg  AEF KL%%H# 1 4/ 7 1:21.24 7tk (0.66)
10 oAk P #K%S%‘S@k /N6 2/ 3 1:21.50 7k (0.69)
11 [ ASZE KRR A 13;;7;1 SC /N6 3/ 3 1:22.67 Tk (0.82)
12 Il %E RS;§4£~7\“ /6 3/ 8 1:23.10 6k ( 0.69)
13 3L &t S Sg%%%ﬂ% /N6 2/ 5 1:23.43 6% ( 0.68)
14 BEIR W :1/\39/?1%/@ A6 3/ 2 1:24.21 «F® 6%k ( 0.78)
15 R Kt KL%%EI# NS 1/ 3 1:24.62 8tk ( 0.66)
16 KA ViglG %fﬁg()éogﬂéﬁa N6 2/ 4 1:24.71 6% ( 0.69)
17 58 5 :/\39/?11%@ /N6 3/ 5 1:24.90 6% ( 0.66)
18 BEAT et é&fﬁg)%BgXlJﬁ /N5 3/ 1 1:25.06 7k ( 0.69)
19 =#m BT Iffoszg /N5 2/ 6 1:25.51 % (0.79)
20 /AR ay 3,f()/ﬁ%{@ 1 2/ 2 1:25.83 5% ( 0.66)
21 BIR &= M?%ﬁ.iﬁ% /N6 1/ 4 1:26.58 5% ( 0.81)
22 I B ﬁ‘éﬂifns'og /N5 1/ 50 1:27.30 7tk (0.76)
23 A AIK :/3(1)/%@ Hil 1/ 6 1:27.63 5% ( 0.65)
No.26 EBF 100m FikE BALL—RRE
L 13- 14F >
B K 4 T B SHE KK B M
1 B & J S SHJI 2 7/ 5 1:07.16 10#% ( 0.61)
2 L -E z.fﬁglslg Pl 1 6/ 8IOC1 108. 42 10#%  ( 0.69)
3 sER IR} /vwig}g\zhﬁ H2 6/ 2 1:09.11 9k (0.71)

Hi ) H IR

2H2H 12:13



20245 F AR B NEFHEK KB KRS 2/3
235 FHHTHIEAK 7 —/L (50m)
HIH : 2025%E2H 1H (1) ~2H2H (H)
No.26 B+ 100m FEjk= RALL—R R
L 13- 14 >
B K £ T B 2E KK icE
4 1A EE JSSKE 12 5/ 4 1:09.25 9% ( 0.63)
32.32
5 Ui 5/ AN i1 6/ 1 1:09.64 10#% ( 0.61)
32. 87
6 NNk LR 4 ES C 12 6/ 3 1:09.87 9%k ( 0.67)
32. 31
TP EE B I G #fF 1 6/ 5 1:10.05 9% ( 0.71)
32.78
8 1M Bk =P AVE I 12 5/ 5 1:11.57 8% ( 0.76)
32. 82
9 =3 KA J SSIE 12 6/ 6 1:11.66 8% ( 0.70)
33.29
10 | 2K ZiES C ] 5/ 3 1:12.32 9% ( 0.65)
34. 26
11 % Bk S S CHAE 2 5/ 7 1:12.63 8#% ( 0.68)
34.10
12 &E Pl B — kN 1 5/ 6 1:12.80 8f% ( 0.64)
34. 34
13 Al FRA v— MR 2 5/ 1 1:13.25 7#%  ( 0.80)
33.91
14 £f KA BIGT = H2 5/ 2 1:13.68 %% ( 0.64)
35. 06
15 FABEKEA MY S 4 %b% Wl 5/ 8 1:13.84 8tk ( 0.71)
33.77
16 /AR RN S S CPHR 12 4/ 5 1:15.45 7% ( 0.63)
33.63
17 F~F R V ET N 12 4/ 4  1:16.05 6% (0.72)
35. 81
No.26 BB+ 100m Fjk = RALL—R R
L 15-16:% >
BRI K 4 il 2E KK B
1 A PR H FRAR IWAYS s = 7/ 1  1:06.40 9%% ( 0.69)
31. 20
2 SR PN EP:%?(;EET.% il 8/ 8 1:06.42 9%k ( 0.62)
3 PR A RS S &1 7/ 6 1:07.12 o ( 0.62)
31.37
4 fEfE FHA ﬁﬁfﬁw =2 6/ 4 1:07.35 9%k ( 0.66)
5 Efk Rk A7 & f3 6/ 7  1:09.79 8% ( 0.67)
33. 37
No.26 BB+ 100m Fk = B A L L— R R
L 17 - 185% >
B K £ ir B 2E KK =G
1L H Bt HoRCR R ml 8/ 7  1:04.02 10i%  ( 0.69)
29, 96 - Joc (CS) - JoC
2 R IR Efj%gtgq;ﬁ% =) 8/ 1 1:04.40 9%% ( 0.67)
3 OHE K qﬂﬁg&ﬁ;ﬁ% =2 7/ 7  1:05.86 of% (0.72)
A FRE éz.@;slgaéaa =2 7/4  1:07.78 8% ( 0.60)
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20245 F AR B NEFHEK KB KRS 3/3
235 FHHTHIEAK 7 —/L (50m)
HIH : 2025%E2H 1H (1) ~2H2H (H)
No.26 B+ 100m FEjk= RALL—R R
L 17 -187m% >
B K £ T B 2E KK icE
5 ik ARHB BlE B2 7/ 8 1:11.76 65% ( 0.63)
33. 84
No.26 BB+ 100m Fjk= RALL—R R
< 19FULE >
B K 4 il PE K B
1 ARA KM HRTR X3 8/ 4 1:00.91 104% ( 0.62)
28.40
2 Ve e EP:'?'\chm x2 8/ 5 1:01.83 9%k ( 0.56)
3+ Ek EITON K1 8/ 3 1:04.08 8% ( 0.70)
29. 75
4 FH R SNV 8/ 2 1:04.28 8f% ( 0.66)
29.73
5 L R UK K2 8/ 6 1:06.72 T#%  ( 0.61)
30. 99
6 74 Th ARSI TYN K2 7/ 2 1:08.06 7#%  ( 0.69)
32.48
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